EARAROBEEIERT — 2 N— IBISH —F

20129F9A9A (B) 11E1AE2H

el o — 3 Y5 R2K ‘ [x&] 2 ‘ (] — | & (%) 13000 HE
[AE£] 1% :290,000” ~ 2%&:67,000”  337%&:26,000H  43%&:1500 M 53 :9,000 8
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . = HBIEfE : —4-3— — BEETE (58
1lsl5|F1U T L= o2 a% g 1.(2_8).7 3-4-3-2 | 41.7 3 ;1_562) ngj—m% "
R:TFvok—0 B:vanNLT5> L &
S # o2 | BEE—E 1:29.2 6-5-5-4 |41.9| — 5 446 | FIIES (EH)
20111 T—=Hh—=" 55.0 (2 1/2) () |HHEE
L:ARYIFNYT7—/ B:T7LCFIvD A #a
3 4| 7ZAMT2TN 2 ;:Z_E%J'IEM 1:(229>.6 8-8-7-3 |41.8| — | 8 | 442 ggiﬁé (=5)
R:THAFRIA— B Y-S —7 6 | xm 1%m
. . AllES : —6-6- — RIIEX (E8)
alglit| ¥ RY—La v b o2 el 1.(219).8 7-6-6-5 | 42.4 1 (4_662) BlEX
R:T7LBXT149 9774 8 B/ O JE-F N E%5%
o= s &K TEA :29. ~7-10- . - REHE (5B
5 7M1~ UKZd> o 58.0 (,%if oS 418 ! :1_(: waE
L:ERYIFrYT—/ B RSTrYq AH tF
RN A s 2 | WO 1:30.1 1-1-1-1 [43.7| — 4 485 | AR (1£8)
61810/ FF>3IXTJL—+ 54.0 (1 1/2) (-12) | BEBE
R:vayFrheT B:HI/YIXb KT 7 — L
> 2 | IS 1:30.5 10-10-9-11 | 42.2 | — 6 437 | HERE (ER)
71719 Frl)—ka1—7% g A53.0 ) o) Kﬁ%ﬁ“
R:74=T4FAF =Y B:aviE— {—ZNT7—L
N— K ft 2 | AMATZ 1:30.6 9-9-8-7 |42.7| — 10 | 420 |HIIES (EH)
Y > PIEEASTEA 54.0 (3/4) *+2) Bt
LiPA L T 1= BT AN RIS
. \IFaE .30, 00— . - AB®E (EE)
8 6| MLExrTa o2 7563.0 }@30%)6 2226 | 438 2 :1_560) =HEE .
LG4 7 b)=Z2E=F B:IYILFI— KFHS
. R A :30. —{1=11= 2| = WIS (%)
10 3 U RLAA H— 4 2 55_01— 1(13/02)7 11-11-11-101 42.2 9 42(1)? L =
R:TIRATZ%y b BNRLSFFUILT RS =HHE
o2 | WTEX 1:31.6 4-3-4-8 |44.6| — 10 | 455 |&EXE (1£E)
1117/ 8 HhXKR—=7 55.0E (5) (-4) W;?‘\"% B
R:TFyvk—9 BRIy hT—H FABl45I5
® I —F—@EBIERL
13=7r= 10,6,5,8,7,1,11,4,2,9,3
2ol=5= 10,6,8,5,1,11,7,4,2,9,3
Jol=5r= 10,6,5,8,1,11,4,2,9,7,3
40—+ — 10,5,4,1,11,6,2,8,7,3,9
[ N3
BB 5 470M 714K 1-5 1,390H % E 1-5 4,320M 3EHE 1-4-5 32,480
8 B 5 200M 4-5 1,190H B & 1= 4,270M K31 5-1-4 259,330
1 350M 1-4 5,860 | | B E 5-1 6,110M
4 240M

ABICOVWTRDTEEERROODE. TR LIV,




